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a[n_] := a[n] =a[n-1] + a[n-1] *_O.i* (l-a[n-11)

a[l] = 0.1 = i -
0.1 ) '
Array[a, 100]

{0.1, 0.145, 0.206988, 0.289059, 0.391811, 6.510959, 0.635899, 0.751665, 0.844997,
0.910486, 0.951236, 0.974429, 0.986888, 0.993358, 0.996657, 0.998323,

0.99916, 0.99958, 0.99979, 0.999895, 0.999947, 0.999974, 0.999987, 0.999993,
0.999997, 0.999998, 0.999999, 1., 1., 1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,

Loy Towiy Loy Lioig Loy Lo Lasg Bhig oy Doy s Loy Aoy Dig Logdog Lo day duy duydey

T By Ty Tog Ty T Tig Loy Doy Bag Loy Tag day Log Logdos Do s dsy dis g Loy

Troiy Trwry Ty Lang Tiosy Ty Bog Loy Loy Loy Loy Loy Ty Lig T dos B7%5 Lak 1oy de)

=

b[n_] := b[n] =b[n-1]+ b[n-1] %1% (1-b[n-1])

b[1] = 0.1 - ) )

0.1 A
Array[b, 100]

‘0.1, 0.19, 0.3439, 0.569533, 0.814698, 0.965663, 0.998821, 0.999999,1.,1.,1.,1.,
Loy Ty Tng T i Teos Booe Tog Lo Doy Bo g e Loe g Lo g sy Lo g g iy L e 5 i
1.,1.,1,1,1,1,1,1,1,1,1.,1,1.,1.,1.,1,1,1,1.,1.,1.,1,
i.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1.,1., 1.,
Loy Tosy Loy Loy Tog Tog Tug Tog Tay Loy Bay Doy il Lagiloydey Lig Ly dos dag lag de]

c[n_] := c[n] =c[n-1]+ c[n-1]*3 % (1l-c[n-1])
c[l] = 0.1 -
0.1

Array[c, 100]

(0.1, 0.37, 1.0693, 0.846993, 1.23578, 0.36166, 1.05425, 0.882681, 1.19335,
.501158, 1.25115, 0.308456, 0.948389, 1.09523, 0.782331, 1.2932, 0.155706,
.550092, 1.29256, 0.15809, 0.557382, 1.2975, 0.139466, 0.499512, 1.24951,
.31421, 0.960657, 1.07404, 0.835467, 1.24785, 0.320003, 0.972806, 1.05217,
.887498, 1.18703, 0.520986, 1.26966, 0.242514, 0.793618, 1.28498, 0.186386,
.641326, 1.33141, 0.00769453, 0.0306005, 0.119593, 0.435464, 1.17297,
.564306, 1.3019, 0.122768, 0.445855, 1.18706, 0.520906, 1.26959, 0.242768,
.794262, 1.28449, 0.18821, 0.646571, 1.33212, 0.00484139, 0.0192953,
.0760641, 0.286899, 0.900663, 1.16907, 0.576107, 1.30873, 0.0965976,
.358397, 1.04824, 0.896532, 1.17482, 0.558677, 1.29835, 0.136268, 0.489366,
.23903, 0.350546, 1.03354, 0.929552, 1.12601, 0.700351, 1.32993, 0.0135812,
.0537716, 0.206412, 0.697831, 1.33042, 0.0116291, 0.0461108, 0.178065,
.617137, 1.32597, 0.0292754, 0.114531, 0.41877, 1.14898, 0.635468}
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| recursive-folge.nb

ni13= DiscretePlot[a[n], {n, 1, 100}]

Out[13]=

In[14]:=

Out[14]=

In[17]:=

Out[17]=
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DiscretePlot[b[n], {n, 1, 100}]
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DiscretePlot[c[n], {n, 1, 100}]
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DiscretePlot[c[n], {n, 1, 500}]
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DiscretePlot[1/n, {n, 1, 100}]
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DiscretePlot[(-1) *n, {n, 1, 100}]
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